
MATHCRUSH.COM LEVEL 2

ANSWER, FIND, AND SHADE

ARITHMETIC WITH RATIONAL NUMBERS

1. 4.8 ÷ -0.8 = -6 9. 0.82(-5.05) = -4.141 17. 7.6 - 13 = -5.4

2. 0.4 • 0.005 = 0.002 10.       ÷         = 0.5 18. -103.1 + 94.31 = -8.79

3. -0.2(-4.6) = 0.92 11. 20.9 ÷ -0.19 = -110 19. 8 - 9     = -1.5

4.      •  4      = 2 12. -3.19 + 14.89 = 11.7 20. 0.4 ÷ 10 = 0.04

5. 94.04 - 32.6 = 61.44 13. -1     +  (-1     ) = -3 21. 56.03 + 2.9 = 58.93

6. 0.456 + 7.25 = 7.706 14. -6.4 - 3.39 = -9.79 22. (-2) ÷       = -8

7.        ÷        = -4 15. 12.92 - (-9.08) = 22 23. 6.7(-0.1) = -0.67

8. -5.3 - (-8.34) = 3.04 16. 1.05 • (-0.6) = -0.63 24. 11     - (-5     ) =  17

Put all answers in decimal form.

ANSWERS

3 
7 

2 
3 

8 
9 

8 
36 

1 
2 

3 
12 

6 
8 

3 
12 

5 
13 

40 
52 

-0.67 

14 
21 

5 
15 

7.706 

-6 

0.002 

0.92 

2 

0.5 

-110 

11.7 

-3 

-9.79 

22 

-0.63 

-5.4 

-8.79 

0.04 

58.93 

-8 

-0.67 

17 

-4 

-0.6 

0.02 

-0.92 

61.8 

41.41 

5 

-11 

3 

3.01 

3.84 

6.3 

5.4 

1.5 

0.4 

8 

-67 

-17 

4 
-6 

0.92 

61.44 

0.5 

-110 

11.7 

-3 
22 

-5.4 

-8.79 

-1.5 

-8 

-0.67 

17 

-4 

3.04 

7.706 

-6 

0.002 

2 

0.5 

-110 

-3 

22 

-1.5 

-8 

17 

-4 

2 

2 

17 

-3 

7.706 

-6 0.002 

0.92 

2 

0.5 

11.7 

-3 

-9.79 

22 
-8.79 

-1.5 

0.04 

58.93 

-8 

-0.67 

17 
-4 

3.04 

-6 

0.002 

0.92 

2 

61.44 

0.5 

11.7 

-3 

22 

-8.79 

-1.5 

0.04 

58.93 

-8 

-0.67 

17 
-4 

3.04 

-6 

0.92 

-3 

22 

-8 

-4 

3.04 

1.181 -0.6 

0.02 

-0.2 

41.41 

5 

-11 

3 

3.01 
3.84 

6.3 

5.4 

8.79 

1.5 

0.4 

59.2 

8 

-67 

-17 

4 

-0.6 

0.02 

-0.2 

61.8 

5 

-11 

3 
3.84 

6.3 

1.5 

0.4 

59.2 

8 

-67 

4 

-0.6 

0.02 
-0.2 

4 

41.41 5 

5 

-11 

18.08 

3 

5.4 

3.01 

3.84 

6.3 

0.4 
59.2 

8 -67 
-17 

5 

-11 

3 

3.01 

3.84 

6.3 

0.4 

8 

-67 4 

13.64 

-8.79 

-8 

4 

8 -0.2 

3 


	Sheet2

